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[Fig03] MoTs & SFRs 4 discussion || K0146 0.3.6 d13¢512 w/base Bvsb6A || FWHM=0.5dex ; AR=1.0 pix || UGC03253

SDSS stamp 010 M(.)T = M(<.t)/t [M I/ yr] 4 .MOT_SD.: M(<t)/It/A [M I/ yr/ k;pc2l] | IMOT(‘[) /I MoT(ool) |
' : ' | : P3| EERECTIUETET) IS A T ! e, S
0.08 i : : : : . : ; ; ; ;
T R N rr 77 .Y 1 Ut SOt ST S NSO 200 I I N S S
0.04
" :_',.o 0.02
G 5
12 4
10 : 3
8 2
s
2 5
]
35| e e — —osmxl]
3.0 _ """""" """""" """"" - izll,bo;LIf I
] AR SO e, - |
: : : = integrated

-0.5
-1.0
-1.5
-2.0

log t [yr]



